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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Summer Examination-2019

Subject Name : Manufacturing Engineering-11
Subject Code :2TE04AMFE1 Branch : Diploma (Mechanical)
Semester :4 Date :24/04/2019 Time :2:30 To 5:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) By which process final product is produced?
(A) Metal spraying  (B)Metal pouring (c) Metal removal (D) metal melting
b) A shop floor Supervisor is a vital link between

(A) Workers and machine tool. (B) Workers and material.

(C) Management and workers. (D) Management and customer
c) Cast iron during machining produces

(A) Discontinuous chips (B) Continuous chips

(C) Continuous chips with built-up-edge (D)None of these

d) A device, which is used to measure the force components on machine tool is known as
(A) Volt meter (B)A-meter (C)Tool dynamometer (D) Watt meter.
e) Generally cutting fluids are used to

(A) Improve machinability (B) Provide better surface finish of work
(C) Increase tool life. (D) All of the above
f)  Which machine tool is not a basic machine tool from the following?
(A) Centre lathe (B) Milling machine
(C) Drilling machine (D) Crank shaft turning lathe

g) Some times continuous chips are broken down into small segments by using,
(A) Fingers  (B) Chip breakers (C) Pliers (D) A piece of wire.
h) To hold square, rectangular, regular and irregular shapes of work pieces

(A) Three jaw chuck is used (B) Drill chuck is used.
(C) Four jaw independent chuck is used (D) Magnetic chuck is used.
i) Drilling is a simple and very convenient way of getting,
(A) Cylindrical surface on a work piece. (B) Holes in a work piece
(C) Flat surface on a work piece (D) Grooves on a work piece.
j) Which of the following is not a specification of milling machine?
(A) Table length and width. (B) Height of the milling machine.
(C) Power traverse. (D) Numbers of feed.

k) Which of the following operations can be performed with milling cutters?
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(A) Cutting key ways on shafts (B) Cutting external screw threads

(C) Cutting teeth of spur gears (D) All of these

I) Rotary motion of the bull gear is converted into reciprocating motion of the ram,

the mechanism is used
(A) Wheat Worth quick return mechanism  (B) Hydraulic shaper mechanism

(C) Crank and slotted mechanism (D) All of the above

m) In which machine tool from the following, Internal key way can be cut in a hole ?
(A) Shaping machine (B) Slotting machine
(C) Planer machine (D) Both (a) and (b) above

n) When the cutting edge of the cutting tool is dull, then

(A) It is forged (B) It is turned (C) Itis regrind (D) None of the above

Attempt any four questions from Q-2 to Q-8
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Define the Manufacturing Process.

Distinguish between Metal Forming method and Metal Generating method.
Explain chip formation with a neat sketch. State the types of chips.

Attempt all questions

Sketch S. S. & S. C. lathe machine and label the parts on it.

List the methods of taper turning.

Bigger and Smaller diameters of a taper pin is 32 mm and 24 mm respectively. Calculate
the angle of setting of compound slide if taper length is 60 mm.

Attempt all questions

Write the function of the following in one or two sentences.( Each carry one mark).
(1) Toolpost (2) Leadscrew (3 Changegears (4) Halfnut

(5) Cutting fluids (6) Shaperhead (7) Dividing head

List the operation performed on drilling machine. Explain any one with neat sketch.
Attempt all questions

Sketch and label the parts of a radial drilling machine.

Explain Up milling and Down milling with neat sketch.

Attempt all questions

What is the Indexing? List the indexing methods.

Explain quick return mechanism in shaping machine with neat sketch.

Attempt all questions

Write the working principle of the Slotter machine using block diagram.

List the operations performed on slotter. Explain any one with neat sketch.
Differentiate between shaper machine and planner machine.

Attempt all questions

Sketch single point cutting tool and label the elements on it.

Define ° tool life’. List the factors affecting on tool life.

Explain, why foundation is required?
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